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Neu;NfhL 

,ize;j fzpjk; 
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18.0 

 

mwpKfk; 

 

 

 Ms;$w;W Nfj;jpufzpjkhdJ fzpjj;jpy; cs;s Nfj;jpufzpjg;gpur;ridfis ml;rufzpj 

uPjpahf Ms;$w;W Kiwfs; %yk; jPu;f;Fk; topKiwfis jUfpd;wJ. ,jpy; Neu;NfhL> tl;lk;> 

gutisT> ePs;tisak;> mjpgutisT Nghd;w ghlg;gug;Gfs; cs;sd.  

 ,ize;j fzpjj;jpy; Neu;NfhL> tl;lk; Nghd;w ghlg;gug;Gf;fs; tpupthfTk; gutisT> 

ePs;tisak;> mjpgutisT vd;gtw;wpd; mwpKfk; khj;jpuNk $wg;gl;Ls;sJ. Neu;NfhL ghlg;gug;G 

fPo;tUk; tplaq;fis cs;slf;Ffpd;wJ. 
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        ghlg;gug;G 

1   Ms;$w;W jsj;jpy; Gsspfis ,dq;fhzYk; fz;Lgpbj;jYk; 

2   xOf;Fk;> Neu;NfhL xd;wpd; gbj;jpwDk; ntl;Lj;Jz;Lk;. 

3   Neu;Nfhl;bd; rkd;ghL. 

4   ,uz;L Neu;NfhLfSf;F ,ilg;gl;l Nfhzk;. 

5   Neu;Nfhl;bd; nghJtbtKk;> mr;Rf;F rkhe;jukhd NfhLf;FSk;. 

6   Neu;Nfhl;bd; ghkhdr;rkd;ghL 

7   FwpaPLfs; 

8       u+dv = 0 ,d; tpsf;fk; (u-0, v=0 Neu;NfhLfs;) 

9   nrq;Fj;J J}uk; 

10  ,U $whf;fpfs; 

11  Gs;spfspd; epiyia mwpjy; 

12  gy;ypdg;gapw;rpfs; 
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Ms;$w;Wj;jsnkhd;wpy; ,uz;L Gs;spfSf;F ,ilg;gl;l J}uk; 
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,UGs;spfSf;F ,ilg;gl;l J}uk; x Ms;$Wfspd; tpj;jpahrj;jpd; tu;f;fj;jpdJk; y 
Ms;$Wfspd; tpj;jpahrj;jpd; tu;f;fj;jpdJk; $l;Lj;njhifapd; tu;f;f %yj;jpw;F rkdhFk;. 
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,U Gs;spfis ,izf;Fk; Neu;Nfhl;Lj;Jz;lj;ij ʎ:µ vDk; tpfpjj;jpy; gpupf;Fk; Gs;spapd; Ms;$W. 

 

 

 

 

 

 

NkNy cs;s %d;W glq;fisAk; mtjhdpAq;fs;. 

A,B Mfpa Gs;spfis ,izf;Fk; Nfhl;by; C vt;thW mike;Js;sJ. 

 

 

    glk; I  ,y; 

  

 C MdJ A,B f;F ,ilapy; mike;Js;sJ. 

 AC, CB ,d; Nghf;F xNu Nghf;F. 

 AC: CB = ʎ:µ  

            

   NeuhdJ vd;fpNwhk;. 

 

    glk; II  ,y; 

         

         C MdJ A,B I ,izf;Fk; Nfhl;Lf;F ntspNa mike;Js;sJ. 

        AC, CB ,d; Nghf;F vjpuhdit. 

        AC: CB = ʎ:µ  

      

    vd;fpNwhk;. ʎ> 0    µ < 0 
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  glk; III  ,y; 

 

C MdJ A,B I ,izf;Fk; Neu;Nfhl;Lf;F ntspNa mike;Js;sJ. 

AC, CB ,d; Nghf;F vjpuhdit. 

AC: CB = ʎ:µ  

      
0

CB

AC






Fwpg;G:  

C A B 

µ 

ʎ 

C B A 

µ 

ʎ 

A < 0         µ> 0    ʎ > 0 µ<0 

1 ʎ 1 ≠ µ    ʎ ≠ 1 µ 1 

   MFkhW AB I ,izf;Fk; Nfhl;by; xU Gs;sp C xUNghJk; fhzg;glhJ. 

 

AΞ(X1Y1), BΞ(X2Y2) vd;gd njw;fhl;bd; Ms;$w;W jsj;jpy; ahNjDk; ,UGs;spfshf A,B 

I ,izf;Fk; Nfhl;by; C MdJ AC:CB=ʎ:µ vdDk; tpfpjj;jpy; gpupf;fpd;wJ. Gs;sp C ,d; 

Ms;$w;W. 
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 ʎ / µ > 0 ( C MdJ AB I cl;gpupj;jy;) 
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  tif II  

  

 ʎ / µ < 0 ( C MdJ AB I ntspg;Gwkhf gpupj;jy;) 

 ʎ > 0     µ < 0 vd;Nghk;. 

 

 

 

 

 

 µ = -m vd;Nghk; 
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1)  AB ,d; eLg;Gs;sp C 

cjhuzk; 

 AΞ (2,3), BΞ (-4,3) vdpd; gpd;tUk; xt;nthU re;ju;g;gj;jpYk; AB I jug;gl;l tpfpjj;jpy; 

A      C      B 

(2,3)    (-4,3) 

A      C      B 

(2,3)                                                (-4,3) 

A      C      B 

(x1  y1)    (x2  y2) 

tif I> tif II ,ypUe;J AB I ,izf;Fk; Nfhl;il AC: CB = ʎ:µ vDk; tpfpjj;jpy; 
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Fwpg;G:  

 

 

           C MdJ AB ,d; 

eLg;Gs;sp vdpy; AC: CB = 1:1 

2)  AC : CB  = 2:3 

3)  AC : CB  = 3: 2 A      C      B 
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4)  AC : CB  = -1: 2 
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  xOf;F 

 

xU Fwpj;j epge;jidf;F mikthf ,aq;Fk; Jzpf;ifapd; ghij mj;Jzpf;ifapd; xOf;F 

vdg;gLk;. ghijapd; tbtj;jpw;F mikthf mt;xOf;F ntt;NtW ngau; nfhz;L            

miof;fg;gLfpd;wJ. 

 

 Neu;NfhL (tiutpyf;fzk;) 

 

jsk; xd;wpy; ,aq;Fk; Jzpf;ifnahd;W jhd; ,aq;Fk; ghijapy; ve;j ,U 

fzq;fSf;F ,ilapYk; mtw;wpd; epiyfSf;F ,ilg;gl;l J}uk; kpff;FWfpajhf ,Uf;FkhW 

mjd; ghijapd; tbtk; Neu;NfhL vdg;gLk;. 

 

Neu;Nfhl;bd; gbj;jpwDk; ntl;Lj;Jz;Lk; 

 

Neu;NfhL xd;W X mr;rpd; Neu;j;jpirAld; Mf;Fk; Nfhzj;jpd; tan tpfpjk; me;Neu;Nfhl;bd; gbj;jpwd; 

vdg;gLk;. ,q;F ≤ Ɵ < π 

Neu;NfhL xd;W y mr;ir ntl;Lkhapd; y mr;ir ntl;Lk; Gs;spapd; y Ms;$W me;Neu;Nfhl;bd; 

ntl;Lj;Jz;L vdg;gLk;. 

 

Fwpg;G:  

 y mr;rpd; ve;jnthU Gs;spapdJk; x Ms;$W g+r;rpakhFk;. 
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1) x mr;rpd; Neu;j;jpAld; Neu;Nfhl;bd; rha;T  Ɵ (0 ≤ Ɵ < π)   vdpy; gbj;jpwd; m= tan Ɵ 

2) Neu;Nfhl;bd; ,uz;L Gs;spfs; njupAkplj;J Neu;Nfhl;bd; gbj;jpwd; 

 A Ξ (x1,y1) B Ξ (x2,y2) Gs;spfspD}L nry;Yk; Neu;Nfhl;bd; gbj;jpwd; 
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gbj;jpwd;  m= tan Ҩ 
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             =    
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y Ms;$Wfspd; tpj;jpahrk;     

Ms;$Wfspd; tpj;jpahrk; 

Fwpg;G:  

 B  ,d; Y Ms;$wpypUe;J A ,d; y Ms;$W fopf;fg;gbd; x Ms;$Wfspd; 

tpj;jpahrKk; B ,y; ,Ue;J A ,d; x Ms;$w;iwf; fopj;jy; Ntz;Lk;.  

Neu;NfhL xd;wpd; gbj;jpwd; fhZk; rpy re;ju;g;gq;fs;. 
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Fwpg;G:  

 X0=0 vdpd; A cw;gj;jp> AB MdJ y mr;ir Fwpf;Fk;. y mr;R  x mr;rpd; 

Neu;j;jpirAld; Mf;Fk; Nfhzk; π/2  tanπ/2  tiuaWf;fg;glhjjhy;  y mr;R> y mr;Rf;F 
rkhe;jukhd NfhLfSf;F gbj;jpwd; tiuaWf;fg;glhJ.   

3) Neu;NfhL x ,y; mr;Rf;fis ntl;Lk; Gs;spfs; jug;gLk; NghJ 

y 

x 

B    (0, y0) 

(x0,0)     A 

AB ,d; gbj;jpwd; m=  

 

 

 

             ,q;F x 0 ≠ 0 

0
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0y












y 

x 

A     
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π/2+α α 

4) cw;gj;jpapy; ,Ue;J Neu;Nfhl;Lf;fhd nrq;Fj;Jf;NfhL Neu; x mr;Rld; α Nfhzk; mikf;Fk;  

   NghJ Neu;Nfhl;bd; gbj;jpwd;. 

AB   ,d; gbj;jpwd;  m= tan (π/2 + α) 

        = -Cot α 


